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1. 7g gu-1, Then-giae % w0 8 31wt wherRiE S et wred wsi w )

The question paper is in the form of test booklet. All candidates will be assessed on identical questions.

2. 3i.uw.aTR. e W feemdl @ emgEs ey ait.un. TR, wie W e /TR /aee St i o I ffea
FQ ¥ T Fraet aiet wree U9 (i A Hien) # s AR

Read the instructions on the OMR sheet carefully. Use only Ball Point Pen (Black or Blue) for writing /
shading / bubble on OMR sheet and marking your answers.
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A separate OMR answer sheet with carbon impression is provided to all the candidates for answering. On
completion of the test tear the OMR Answer sheet along the perforation mark at the top and handover the
original OMR answer sheet to the invigilator and retain this duplicate copy with you.
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Each objective question is provided with a text and/or figures wherever applicable with multiple answer
choices (a), (b), (c) and (d). Only one of them is correct.

9 e & foTu 30 Fercte w1 Sifad gB Su/

DM-01 Please see the last page of this booklet for rest of the instructions


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

ALL EXAMS,
ONE SUBSCRIPTION |

‘I
40,000+ Personalised Unlimited
Mock Tests Report Card Re-Attempt
500+ Previous Year 500%
Exam Covered Papers Refund

DOWNLOAD NOW


https://www.adda247.com/product-testseries/79075/test-prime?productId=79076
https://www.adda247.com/product-testseries/79075/test-prime?productId=79076
https://www.adda247.com/product-testseries/79075/test-prime?productId=79076
https://www.adda247.com/product-testseries/79075/test-prime?productId=79076

Adda

247

.

GET IT ON
A Google Play



https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda2417

e HUMAN SPACE FLIGHT CENTRE SET
Wé‘i‘ﬁ DRAUGHTSMAN (B) - MECHANICAL D

1. 8x8x5T4x8x 10 DR P Sel-l &b I BT AU T B2
Ratio of volume of vessels of size 8 x 8 x 5and 4 x 8 x 10 is

(@ 0.5 (b) 1.0 () 1.5 d 2.0

2. MG 7 b & BRI, T SV PIE T FT UHT ISl §?
Due to torque in a shaft, every cross section is subject to

(a) U U@ / Shear stress (b) T UREA / Tensile stress
() d®TUNEd / Bending stress (d) Yud ufdsd / Contact stress

3. 9 UP &S P IR Bl A ‘A’ H W UR FgE bt e €, A, <8 # O oiae wfase @ gk
7
When a load of ‘W’ is applied to a bar of cross section area ‘A’, the average stress induced in
the bar is given by

(@ W*A (h) W/2A © 2W/A d) W/A

4. of © yden gETeR feue Tt iR . & TR B, o, SHET 60 ud S=iK # § 87
If a thin circular disc is parallel to HP and VP, its plan and elevations are

(a) FARNTE G'_rﬁlT-‘Ir Gl I‘ﬂﬁqﬁ 8l ® / Both plan and elevation are ellipses
(b) EC24 'Eﬁ'ﬂ-QH grar % 3R F=ar TS @1 Blel T /Planis an ellipse and elevation is a line
(c) T U Y@ Bl & 3R mwa‘ﬁqa BT ® / Plan is a line and_elevations is an ellipse

(d) IR Ud I-IaIY ST ¥@IE gl § / Both plan and elevation are lines

5. 450 3yar 300/600 Py sryar G & TASH & WY HIF-H1 HI0 Tg] ST S Gha?

Which angle cannot be made with either a 45° or 30°/60° triangle or a combination of both?

(@) 30° (b) 60° () 70° d) 90°

6. UP Y BT TS A7%d 216 T2 3 | BT SraH ferm grme

Surface area of a cube is 216 m2. Its volume is given by

(a 216m3 () 108 m3 (0 72m3 (d) 48 m3

DM-01 3 March 2020
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DRAUGHTSMAN (B) - MECHANICAL D

T R TE O B, 5 1 e fhd i & figell R eredt B, A ga b siex % YT TS I 91 FEl Sl

2 / If a line intersects a circle at two points, not passing through the center, the line segment
inside the circle is called

(a) f5u @1/ Radial line
()  ©fiar/ Chord

(c) At/ Sequent
(d) ?Iﬁ?-ﬁQT/ Quadrant

8. TP qw &1 5Sd 3Mgyl 1 &6 B
Area moment of inertia of circle is
(a) wd'/64 ®) 7d?/32 (¢ xd®/16 (d xd'/16

9. S sioE 1A o s el g, @, aIRR B are S 9 g
What is the outer diameter of washer when the nominal diameter of bolt is 5 mm?

(a) 13 mm (b) 15mm (¢ 10 mm (d 12mm

10. Eﬁfiﬁ!’fﬁﬂ%@,éﬁdﬁwéﬁmﬁﬁgﬁﬁﬁ gl gl
Bolt which consists of onlyla cylindrical shank threaded at both ends is called
() ¥ fea uRd diee / Headless tapered bolt
(b) 2u-diee U1 5y %P / Tap-bolt or cap screw
© WS-9iee WS / Stud-bolt or Stud
(d) PIHeEP-888 dlee / Countersunk-headed bolt

11. 2 S psinw, ol R, Ry, wwacs, 3o e e fu ¢a IR~ § Heifta 814 &7
The commands Erase, Copy, Mirror, Trim, Extend, Break etc in 2D CAD belongs to which

tool bar?
(a) WRTAER /Layer tool bar (b) TWEATATR / Style tool bar
(c) HINSWHIE A IR / Modify tool bar (d) TITAER /Draw tool bar

DM-01 4 March 2020



https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda297 " A G |

- HUMAN SPACE FLIGHT CENTRE SET
E.'F4‘5ﬁ

DRAUGHTSMAN (B) - MECHANICAL D

12.  ‘Gerenis @ Wa HHiS & §d I SR 87
What is the difference between “Zoom” command and “Scale” command?
(@) ‘TETVAN B Tl B SQod] § G Wd 9% & HPR Bl Feud ¢ / Zoom changes the
visibility of the project while Scale changes the size of the object
) TS R B G e § el WA TSR B 10 T 9gI/Hel ¥hdl § / Zoom has no limits
while Scale can grow/ shrink a shape by up to 10 times
(© AR TR0 & o giar § eld e (e a5 & [y g1 € / Zoom is for the whole plan

while Scale is for a single object

(d) S TYPIE el / None of the above

13.  gEuy. (sEe ST Te) BT W I8 &1 87
What is the primary purpose of UCS (User Coordinate System)?
(a) e @) SMOfEd TR & RGN IHTS BT 997 B &t ¢ / Allows user to select the desired

type of drawing units

(b) e @1 faffEe S voae W 3 WY T W@ i F9H &1 & / Allows user to draw on a
specified 2D plane in 3D space

(c) TG B Y] ¥ &A% B UM HYA A Heg IRl § / Helps user to calculate the area of an
object

@) e S wEid vdd % R o Fufa $379 & #eg S &/ Helps user to determine

angles for isometric projections

14, @N- RS U1 6 B MG SaRamalel B O e § Fag o 87

Which design process involves responding to the emotional needs of the consumer?

(a) GOl f&98T / Aesthetic Design
() UBHE®D f$9ET / Functional Design
()  womel f$@EA / Systems Design

(d) 3-TMUR/e-business

15. g ity s ¥ g, AR wd o5 ()% &9 3 gl B H gwrn o ¢ (R=f=)?
For a square thread, the distance between the crest and root (d) is given by? (p = pitch)
(a) 061lp (b) 064p (¢) 05p (d 0.86p

DM-01 5 March 2020
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16.

L7

18.

19.

20.

21.

4R1 T ¥ 3 SR A StfRichad rge o1 9 el Sl 87

Maximum deviation in size of shaft or hole is known as

(a) gl / Tolerance (b) Huyd {g9e / Fundamental deviation
()  SfRmd / Clearance (d) B / Interference

Rl Ty et % IR U wenf & URRYY Y T el Tl 67

Resistance of material against any external force is known as

(a) g-iwar / Stiffness (b) SmaTgdEfd / Malleability
(c) gme / Strength (d) woRal / Hardness

P @1l T TSRO Wi 87

Which of the following is a surface finishing operation?

(a) f3f@@T / Drilling : (b) QftT / Lapping

(¢ faf@ / Milling (d) THT / Turning

wie g @) qufyaren Ui g SI-31 67

Symbolic means of indicating Spot face is

@ |sF] ® \/
© T @ ©

& + 2x—15 = 0 THIBRUI & A T8 ?

Roots of equation x2 + 2x — 15 = 0 are?
(@ 5,3 ®) -5,3
(¢ 5,-3 (d -5,-3

Wm@@ﬁm%ﬁqmmﬁmmzﬁ &

For chromic acid anodized surface, typical thickness of oxide layer is

(a) 0b5to25 (b) 5-10p () 10-12p (d)

DM-01 6

More than 12

March 2020



https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda297 ==

- HUMAN SPACE FLIGHT CENTRE SET
3“4@5 DRAUGHTSMAN (B) - MECHANICAL D
22. fow & wirue o1 faafRa wi= & g anfgw?

23.

24.

25.

The advised position of placement of the dimensions should be
(a) TP 3N / Inside the view

(b) TEHTE /Outside the view

() TSI UHSH W / On the boundaries of the view

(d) TS BT gU / Cutting the view

& IHHI Ye #, afg i 3R Ue ur=d &1 A1 AR 5 S, oK 4 Sift. §, o It ued &1 A7 fva
g

In a right angled triangle, if hypotenuse & one side measures 5 cm & 4 cm respectively then

the remaining side measures

(a) 3 cm (b) 4cm (c¢ b5cm (dd 6cm

TSipd By s 98 & R e 1@ Fe () & S ol ok —— e o o () fRarmang

For a unified triangular external thread, the distance between the crest and root (d) is

, when pitch (p) is given.
(a) d=0.75pj (b) d=05p
(c) d=061p (d d=064p

24 Ryt am, 5 e TR &k 10 e & g anopfa o & fiig emepfar Yor ) S famforer faam e 82

How is a spot face hole with 24 mm diameter, 5§ mm deep and spot face diameter 10 mm
dimensioned?

(a) @®24and ¢10

(b) 5SPOT FACE, ¢24 x ¢ 10

© 424 SPOT FACE, 410

(d) ¢ 10 SPOT FACE, ¢ 24 x 5 DEEP

DM-01 7 March 2020
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26. R UH Y@ FI gReled @A ¥ 450 3R I @A F 300 FHMAN WM 0 THST SET B GR
BII?
If a line is inclined at 45° to the HP and 30° to the VP, its front view is inclined at
(@) 300 3R 450 % €9 / Between 30° and 45°
(b)  45°% 4P / Greater than 45°
(c) TIHaEs. & Uay H 450 / 45° to xy
(d) UoHds. FHayH 300 /300 to xy

27.  HIAHS ARAR F, T FHTS T 0 T 1 §?
In Autocad software, abbreviation for Rectangle command is

(a) IRZHEE /RECT () IS /RE
() IRFH. /REC (d 3IRE /RT

28. PEH fid geoh! URIT HIF-H1 87
Which of the following is the lightest pencil?

(@ 24 /2B () /B (¢ wuwa=st /HB d = /H

29.  uF v <H B arE 10 M. AR A a7 AR urh 1 7R, 50. Tl TERS 0 MR § A Mk Wa® BT
&AwE T gR
A water tank 10 m long and 4 m wide contains water to a depth of 1 m 50 cm. The total area
of the wet surface is given by

(a)_ 82 m?2 (b) 122 m? (c) 102 m? (d) 42 m?

30. o9 =g T Sarsd o gt ored 150 for § SR U BI0r 450 &2
Name the quadrilateral where all sides are 150 mm and one of the angle is 45°
(a) Md / Rectangle (b) TGS / Rhombus
(0 @ /Square (d) ﬂrﬂﬁﬁlﬂﬁﬁ / Parallelogram

31, Ix bx h 3 TF HAHR Sl P SQ G $1 AP Rid athe o1 e
The developed area of the outer surface of a rectangular box of dimensions I x b x h is
(a) Ixbxh ) l+b+h
0 2(+b+h) d 2(Uxb+Ilxh+hxb)

DM-01 8 March 2020
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DRAUGHTSMAN (B) - MECHANICAL D

32. O\ afEn & udle | e?

The symbol for seam welding is

@ 'Q ) [A
- 0 . &

33.  dRwHA —_— 7
A Ogee curve is a
(@) o dEad / semi ellipse
(b) A G 3fadd & a1y (AR f§ 9% / continuous double curve with convex and concave

() T g% ab ol gl GHHIR a3t dI Sisdr & / freehand curve which connects two parallel
lines '

(d) 3¢l RGTY / semi hyperbola

34. ARG YU BT SHfalke B — A ST

The interior angle of regular hexagon is ———————— degree.

(@ 72 (b) 108 (0 120 (d 150
85. TG TS SHR AP Tag BT ——— Wi &t

The isometric length is __ percent of actual length.

(a) 615 (b) 715 (c) 815 d) 915

36.  Afee yumeh &, 594 M. x 841 Al 3R & <fie 1 Heha T B 72

In metric system, the designation of sheet of size 594 mm x 841 mm is
(a) A0 b) Al () A2 (d) A3

DM-01 9 March 2020
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37. 15%.?&6%6?1?15%;&11311‘%%@ 3iy) fvg @) 9 famfia fvan o &2

How is a blind drilled hole of 15 mm diameter and 15 mm depth dimensioned?

(@ M15, DEEP 15 b ¢ 15
© ¢ 15x15 () ¢ 15,DEEP 15
38. U S ol AT UF ST STFRI AR ——— 76T BT ITANT Lk hY S HeheA 2
A cylinder can be created by drawing a rectangular shape and using the ————— tool?
(a) fgdud / Extrude (b) WU /Sweep
(¢  UR&EHU / Revolve (d) SffBAT / Offset

39. ARGHAES “C” HBR P YR BT G T Bl 62

The measurement of architectural “C” size paper is?

(a) 36" x48” (b) 24" x 36" () 18" x24 d 12"x18”

40. T deyuTy e @ Afier S B claae sfel B Rt foa T R, 3 %9 @ < €% S B ?

A pentagonal prism is placed with axis perpendicular to the horizontal plane, the front view
and top view are?

(a)  U=yw, AYS / Pentagon, triangle
(b) BYs, U4 / Triangle, pentagon
()  UIYS, ATOd / Pentagon, rectangle

(d)  3mad, dsEYyS / Rectangle, pentagon

41, FEAAIPH-1 AR T 82
Which of the following is true?

()  Sin%(30) + cos?(30) = 1
(b) Sin%(45) + cos2(45) =1
(c) Sin2(60) + cos2(60) = 1
@ SwEEh / All of the above

DM-01 10 March 2020
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42. TR % A IO 1 e TR febar ST 87

43.

44.

- 45.

46.

47.

How is Young’s modulus of elasticity defined?
P Al Pl m
£ A .. d m
(@ (A] ®) ( l } © Al-A @ [V]

T (@TeATA) @ fRud B Bl &) quneh HH-I §?

Which of the following are the two systems of placing dimensions?
()  ¥@q e / Aligned system

(i) % UOmel / Break System

(i) PG YUt / Unidirectional System

(v) Teume® vumell / Directional System

(@ (@), Gv) (b) @), (@) (© @), (1) (d @), i)

Fo URfRYfa & FRU U@ gard 3 35ﬁ¢nﬂ aﬁaﬁ%mwél e sga uRfi® dars 7 AL g, @,
gardf o1 faaur faen g

A material elongated by 35 mm due to certain conditions. If it’s initial length is 7 m, what is
the strain of the material?

(a) 0.5 ®) 0.005 © 0.07 @ 0.007

g S Fay # FeffEa 3 S S1F-u1 ae 98 72 62
Which of the following statements about Ellipse is not true?

(a) aﬁﬂqamﬁ?ﬁrﬁgﬁaqﬁwﬁgeﬁ@mthﬂ@?m%/ The sum of the distances from

two focuses and any point on the ellipse is constant

b) o U@ Gudd S Y & el AR § AR P B! Pledl § °f 9 Ge/PIC qdga a1/ If a

plane which is parallel to the axis of the cone cuts the cone, the section gives ellipse

(c) Eﬁ‘d@ﬁ H1 TS GHieRu X%a2+Y%b2=1 & / Mathematical equation of ellipse is
X2/a2+Y2/b2=1

(d) Tbudl 1 YHH & / Eccentricity is less than 1

T Y0E 98 © fored

A Basic shaft is one in which

(a) S faaem g 81§ / Upper deviation is zero

() e RgeH g g 2 / Lower deviation is zero

(© W wd e S famem T Bl % / Both upper and lower deviations are zero

(d) G‘W@Eﬁ H I B 781 / None of the above

5 x 104 3 8 x 105 &7 701 B TR IUTSH T[UFHA T GRTI?
What is the product when you multiply the numbers 5 x 10 and 8 x 105?
(a) 4x 107 (b) 4 x 108 (©) 40 x 108 (d) 40 x 109

DM-01 11 March 2020
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48. g e sua §3S & BT e T 120 Fedh guET o , @ wg s & SR fe o wee &7

When a double — threaded screw is made to turn 120 degrees about its axis, how much does

the screw advance through the axis?

(a) oftieg & &1 1/3 / 13 of pitch of helix

(b) W & Ua®1 13/ 13 of pitch of screw

(¢ e s =@t 14 / 1/4 of pitch of helix

(d) ed efiew & U= ¥ 9AF oIl € / The advancement is equal to pitch of helix.

49, Ry A dafRt ¥ e F af O Rde & & @1 fa 3, A, Rde # 3 o & e P s
oA MRy |

In zigzag lap joint formation when P is the pitch between the rivets, the distance between
the rows of rivets should not be less than

(a) 0.6P (b) 0.8P (G P (d 1.2P

50.  dfre wrquts e fEufy & g7 (Tadl= AR wAda, fd. = FwR T )
The 3¢ quadrant is in which position? (HP = Horizontal Plane; VP = Vertical Plane)

(2) TEUF AR, AW F S / Below HP, behind VP
() TIW FFWR, dd F GRS / Above HP, behind VP
(¢ WU &S, ddl & g / Above HP, in-front of VP

(@ wEUEAE, ad & 9™ / Below HP, in-front of VP

51. @ FIYSl % T & b bal IR 6d el 87
The center of gravity of a triangle is on

(a) =P /centroid (b) URRME= /circum center
(¢ ¥H /Incenter (d) dWIHH /ortho center

DM-01 12 ‘ March 2020
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52. TE T IR TiE AT SMUR W giReied @ 7 R ¥ | IR 58 3 oyl W T HA gRI Ao &R
R S d) 5u% Ul B auTY SPR T gRI?

A right circular cone resting on HP on its base is cut by a section plane parallel to HP,

bisecting its axis. The true shape of the section is

(a) aﬁﬁq&ﬁﬂ / Ellipse

(b) T« / Circle

(c) TRaay [ Parabola

(d) Sfdwae /Hyperbola

53. UF WX S 5 fbel dic AT TEW X 5 o U @) U U B § A IUS awl ;M F2
(1 gy = 745 91R)
The efficiency of a motor that receives 5 kW and delivers 5 HP is (1HP = 745 W)
(a) 35% ®) 70% © 74.5% @ 80.5%

54, U THAd % e FrEfied § 3 ue fRufe e 181 8

One of the followmg position is not possible for a plane

() TEW & ddaa 3R Nt & FHFIR / Perpendicular to HP and parallel to VP
() @ F deaa 3R Tl & FAFER / Perpendicular to VP and parallel to HP
(© T ud @t gHf & it / Parallel to both HP and VP

(d) T IS T8 / None of the above

55.  grael uTefT @ qad S WU e umelt P SuaT wal 8, e fom Pt o1 Fer s g2

CAD programs which incorporate parametric modelling, use a system in which the

dimensions control

(a) Tisa & Saof fAAwdid / Perspective features of the model

(b)  TiSE P UL HIA & fo7¢ UgeRd WS / Shading used to render the model
(c) HISW Pl MPR TG 3MPId / Size and shape of the model

(d) SugE @R / All of the above

DM-01 13 March 2020



https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda247 A &serr |

el HUMAN SPACE FLIGHT CENTRE SET
%‘43"—“ DRAUGHTSMAN (B) - MECHANICAL D

56.  gfe ue o & UTed B 20% SERI S R, O, SHGT A [l §¢ S

If the side of a square is increased by 20 %, then its area is increased by
@ 22% (b) 32% () 40% (d) 44 %

57. oo urswTen & Udten 813 3t wiedr 0.85 2, o, B Urawren A udten TE) 81 &t wididan fha gt

The probability of a test at school tomorrow is 0.85. What is the probability of NOT having
a test tomorrow?

(@) 1/0.85 () 1/0.15 (© 0.15 (d 0.85

58.  fepfeird fot 3 R W ST (R) &1 9 @022

The value of Normal reaction (R) for the following figure is

P
/
W
0
[TTTTTTIITTTT I T LT LT T e T 7
F=puR | R

(a) W -PSin0 (b) W + PSinb
() P -—WSin0 (d) P+ WSinf

W6l Soeg = wilh @I UK, N = IIVgS 9, p = G0 B0, 6 = B0
where, W = Weight of block, P = Applied force, L = Coefficient of friction, 6 = Angle

59. g S B g TSR ¥ T &1 IugnT T ST 82

The types of threads used in Screw jacks are

(a) WAfR® 4T / Metric thread (b) =F /Square

(c) TW¥THS. /ACME (d) USal / Buttress
60.  WHEdl P —— UdiiP gRI RO fepaT ST & 7

Concentricity is represented by symbol.

(2) @ (b)
© D @ -

DM-01 14 March 2020
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5. gt aeqfm TR % vl % GuE oih gl wdt I & fou d o, I A & Wy SR e St o foe u i
arer s | foReft s % fore U @ SrfereR 3w S TTera IOt 9 S|

All objective type questions carry equal marks of THREE for a correct answer, ZERO for no answer and
MINUS ONE for wrong answer. Multiple answers for a question will be regarded as a wrong answer.

6. wu gfert i Qe 3R SR F R W A @1 B &1 C @ D Tfga foren man 2, R@ situm.am. e w, S #
e aon et s e 1 | 9 W W, ITR-YIEIHT 1 Hedieh @l AT S|

Question booklets have been marked with A or B or € or D on the right hand top corner, which is mandatory
to be written on the OMR sheet in the box and bubble appropriately, failing which, the answer sheet will not
be evaluated.

7. it o YTy TR Y SAETIHAT % FTHAR el hid o fo1g ST FRar S wehar 21 ster | Wie T&l & s

Space available in the booklet could be used for rough work, if required. No separate sheet will be provided.

8. 3ufeufy sfie W gwmen w0 & wgal, whemedi =i sufedfs e w gfemm Fie fram g whemeff & o1 Tm % @
&l TEE H B

Before signing the attendance sheet, the candidate should write the Booklet Code in the attendance sheet.
Candidates should sign against THEIR names only.

9. ultem ¥ 3fa #§ (1) Hi e fafed when F wia A (2) g0 LW, IN e Fies wt g = S q
foeft oft wftferfa o sreeff 3@ 7 @ Sm)

At the end of the test (1) Written test Call Letters(s) with photograph pasted on it (2) Original OMR Answer
Sheet shall be returned to the Invigilator and shall not be carried by the candidate under any circumstances.
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